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FIRIS—19 HATAT T GG —anfie sTemEea §ga g o7 &l Tl Hsaat
FHvrEn wRdE ardasrr Fras st e o ?
(1) or%udl Ia (2) oW oA (3) IO "W (4) TG T

Which Indian Economist has been appointed on the UN high level advisory board for socio-economic
challenges in post Covid-19 World ?

(1) Arundhati Roy (2) Amartya Sen (3) Jayati Ghosh (4) Raghuram Rajan

et g g dLog. T, s iy Suivea Hell A Al WL (PSA)
Tt &g o ?

(1) WK R afsadsH (2) WX Ry afssese
(3) WIEHY Wend ey (4) wEHl A ereeEHe

PSA Oxygen plants were sanctioned for installation in public health facilities. What is the expansion
of PSA?

(1) Pressure Swing Adsorption (2) Pressure Slip Adjustment
(3) Primary Storage Administration (4 Primary Slip Adjustment

1 35.~47 e Rt T R SRTE de W S RisRi 39 ok ?

(1) i\ Tad (2) CEHHY AHD

(3) oy fhsm (4) {9 99§

Who among the following has developed World's First bulletproof helmet against AK-47 Builet ?
(1) Bipin Rawat (2) Vedprakash Malik

(3) Anoop Mishra (4) Ranjan Mathai

A S A1g TR’ AT €T, Tl SUHT ST TITd & AT 3 7

(1) Tua (2) aHBTg 3y Bga (4) TOT WA
‘My Pad My Right' project, an initiative of NABARD, has been launched in which state 7
(1) Gujarat (2) Tamil Nadu (3) Tripura (4) Uttar Pradesh

WA BT S @Il (Y@ Weardl) Fei T Svarardl Wien Tgiarid Uh 3
TEATITT ST TS ?
(1) 3z 2y W (3) eRfwE 4) &

Which of the following countries has changed a word in its National Anthem to honour indigenous
people ?

(1) Italy (2) France (3) Australia (4 Spain

FeAT FHTAT AT / SPACE FOR ROUGH WORK PT.O.
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6. 30 ST 2021 TSN ST ST HHE BT AT AR WU FHINT ey o ?

(1) SERYy (2) &A= (3) wa @) <@

Which country has been certified as Malaria-free by the World Health Organisation on June 30,
20217

(1) Bangiadesh {(2) Canada (3) India (4) China

7. WU ST U anfdae WIS SWE ‘REam—TH. WaTYT e g ?
(1) () WU (3) €= (4) SR
Which country has launched the first Arctic-monitoring Satellite ‘Arktika-M" ?
{1) Russia (2) Japan (3) China (4) Germany

8. WWWWWWWWWWH}&H%&?
(1) o™ (2) PafwEsw (3) e (4) =T

Which state Government has declared a fish named ‘Copper Mahseer’ as the 'State Fish' ?

(1) Assam (2) Sikkim (3) Odisha {4) Manipur

9. IEI-URafths ST QAT erial JHE HUEMEE IS, FaRE onftr st ail Joar
Wi Sheted faeiy ermaE s s ang ?

~r ~a

(1) opd (2) 3=9& (3) T (4) T Y

What is the name of a trilateral program by the UK, the US and Australia to take up security challenges
in the Indo-Pacific ?

{1) AUKUS (2) INDPAC (3) UUSA {4) None of above

10. ‘3 ¥ 3G THT AT &N G A@E DIV IH1E ?
(1) Ha aEd (2) Pl AT 3) i faw (4) Fora @
Who is the author of the book titled ‘The Battle of Rezang La" ?
(1) Santosh Yadav (2) Kulpreet Yadav  (3) Neha Singh {4) Vijay Dahiya

F=AT FHRE A0 / SPACE FOR ROUGH WORK
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I SeTTeAT AR ST A ETENTiE) HIOTT ST FIEAHA VA PR HIvar ST o ?
(1) 3l (2) @Sl 3) edfE 4) W

Which of the following country has appointed Anita Anand of Indian origin as its new Defence
Minister ?

(1) England (2) Canada (3) America (4) France
12, SREMEREAR! MRERW i i sH-0E 9% qY ane.

(1) (2) ¥R 3) g (4) ==

Asia’s longest high-speed track for automobiles has been developed at

(1) Pune (2) Indore (3) Mumbai (4) Chennai
13.

BT T 3. TA. . TH.TH. (ILGMS) =na1€r TEE gE I T

(1) ST (2) amEen (3) ®@ (4) NS
Which state has launched a portél named ILGMS ?
(1) Assam (2) Odisha (3) " Kerala (4) Nagaland

14,

AT Wil Fevn a1 Feen Haraasael SVl Frgai Svan ATl e 7

(1) et R (2) e Tl

(3) @ swEw @) T aft

Who has been appointed as the director of the Zoological Survey of India ?
(1) Ashok Singh (2) Dhriti Banerjee

(3) Sneha Aggarwal . (4) Drishti Dhamija

15.

THT HAHter & TS AAEIRTE T Usd MBI Wad AT TAa<uTag BIOTT 9T a1 ?
(1) i (2) S (3) v (4) Fws

E-n?ma Mckeon is the first female swimmer to win seven medals at Single Olympic games, she is a
citizen of which of the following countries ?

(1) USA (2) Australia (3) Germany (4) England

e FWTATE AW / SPACE FOR ROUGH WORK P.T.O.
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16.

6 A

"I WY, TehaT o7 SIS TEuT &0 anfer f B TRy’ B S Eeia S s
e ?

(1) Hfqumren sEematbd (2) THERUEYaE urEse damy

(3) Heqw sfymre i (4) WA HaATAT JUHTT

Which of the following contains the wording “To uphold and protect the sovereignty, unity and
integrity of India” ?

(1) Preamble to the Constitution (2) Directive principles of the state policy

(3) Fundamental Rights (4) Fundamental Duties

17.

[T FETferaaa S g faae faarod =i

(a) T AT Ty %A e Svawerdt |t ordar ogsas S|y A Ol el Sae
Y ATATTH .

(b) = raTerETeN =TT et /9 fasiiite 9w w@Em e e,

(c) o rHTeATeH] rTdieTE e weE T e

(d) AT HRiES U IY fhaT Tl 62 I YUl SRudd STl

Fde SRt fqam/A qEw ang/a ?

(1) % (a) (2) = (b) 3) @ byt @ (b), (O M (d)

Consider the following statements regarding an Advocate General of the state :

(a) He must be a person who is qualified to be appointed as a judge of a High Court.

(b) He enjoys all the privileges and immunities that are available to a judge of a High Court.

{¢) He receives remuneration that is available to a judge of a High Court.

(d) He holds office for a period of five years or up to the age of 62 years.

Which of the statement/s given above is/are correct ?
(1) (a) only (2) (b) only (3) (@ ()and () (4) (b) (9)and (d)

18.

GEde! ST FHEH TEE TR e fae 9T ST Yea gsa S
farere| &l ?

(a) A B W (b) .. Tl g

(¢) sifRaTT g (d) TEIUT TEH G

Lo s ol

(1) e (a) (2) e (b) (3) (b) &l (¢) 4)  (c) oTftT (d)

Which of the following committees recommended the direct election of Sarpanch of Gram Panchayat
in Maharashtra ?

(a) Baburao Kale Committee (b) PB. Patil Committee

(¢) Bongirwar Committee (d) Vasantrao Naik Committee
Answer options :

(1) Only a) (2) Only (b) (3) (b)and () 4) (o) and (d)

F=A1 FITATS AT / SPACE FOR ROUGH WORK
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19. I WY BT HAAGIT (AT IR A HLaw ?

(1) &HeH - 220 (2) ®am - 221 (3) o - 213 (4) e - 226
Under which of the following articles, a High Court can issue writs ?
(1) Article - 220 (2) Article - 221 (3) Article - 213 (4) Article - 226

20. TENST HeHi B e arg Tl ?
(1) Terad T SHE qHIfas ool Gesain Haar aTEiAe Aiquiigd sdeRil THaHd 958
ST,
(2) YURARIS | AQUNhd AqSIiGl g ATEET §9.
(3) TmaERY sftaR dEg@r Fulfa =@,
4) W TEYEeEE s Nt wmE TraTeE| TeatdseEIE STEa.

Which statement is not correct regarding ‘Gram Sabha’ ?

(1) Itis a body consisting of persons registered in the electoral roIIs of a village comprised within
the area of the panchayat level.

(2) Itis a village assembly consisting of all the registered voters in the area of the Panchayat.
(3) Its powers have been determined by the Central Government.
(4) Its powers and functions at village level are like State Legislature at the state level.

21. WY BN HAT HEEHREHET T 941 Jorar 7ad srjamieh wafa ot ?

(1) e 270 (2) wH 280 (3) ®w®H 275 (4) o™ 265
Which of the following articles deals with the grants in aid by the Union Government to the states ?
(1) Article 270 (2) Article 280 (3) Article 275 (4) Article 265

22. TWEM YRR FeH How frae wwe o ?
(1) TErE Gy S SEamEed s HeE S
(2) & FEArll AN HET I B B A B,
(3) WA ¥ 2070 Udd HIEA Seaet S YU AT
(4) WTEE § 2030 T B IS F Th AT
Which of the following statement regarding the Glasgow Conference is not true ?
(1) Glasgow conference was based on climate change.
(2)  All the participating countries agreed on less Carbon Emission.

(3) India will reduce Carbon Emission upto zero till 2070.
(4) India will reduce Carbon Emission upto zero till 2030.

FoA1 FHEE AT / SPACE FOR ROUGH WORK PT.O.
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23. wmYe B e T e
(1) 9O (e edT SFaaasavie i 26 T 1949 ok,
(2) 42 = YSAIGHRIaY ‘YRFTYE B 9E SSvgrd ST,
(3) 42 ¥ TeNgER 1976 ALl H{vATd T,
(4) ST Touedid i, ofis sitT Tt = & e e (Sfeee) TraasiT dod
3.
Which of the following statement is not true ?
(1) The date of implementation of Indian Constitution is November 26, 1949,
(2) 'Secular’ word was added by the 4279 Constitutional Amendment,
(3) The 42"d Constitutional Amendment was done in 1976.
(4)  The ideals of Social, Economic and Political justice has been drawn from the Russian (USSR)
Constitution.
24, @A faem wag =

(a) A 3 JAN, HEE WGMYA qUSY T 69 Ta19 g Fmivr &6 9.

(b) HEE TwurEAT €M 9 9§39 9.

() T g Ml gl R Aisar Tl g frerd omawes .

(d) ﬁ?ﬁawwmmﬁr,aﬁﬁmmﬁ%ﬂnﬁﬁﬁﬁmw%m&ﬁmﬂﬁﬁmw
T v faum/fram fes smy/emd ?

(1) (a) S (d) 2) (a) ()& (d) (3) f(a) b)eT() (4 wd

Consider the following statements :

(a) Under article 3, Parliament can create a new state out of a state by separating territory.

{b) Parliament can alter boundaries and names of states.

{c) The Bill Seeking creation of new state requires prior recommendation of President.

(d) It is obligatory to accept the advice or opinion of the state assembly concerned, on such biil.
Which of the above statement/statements is/are correct ?

(1) {(a) and (d) (2) (@.(b)and(d) (3) f(a (B)and(c) (4) All

FoHA1 HWMI AN / SPACE FOR ROUGH WORK
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25. Qe faue faema =i

(a) HEgw=T AR TSI HEHSERiIe TgoT Gaedl S el ° earl fqum gie ugo 99
TEeT 15 THRAIUET SR ST6aT ST 7.

(b) FEER=T ARG AT ARHS@ERS TEHUT Saeial G 12 &1 &9 STadT &I 4.
T S

(1) faum (@) IO (2) faam (b) IO

(3) A frem ST (4) <A faum gy

Consider the following statements :

(a) The total number of ministers, excluding the Chief Minister, in the Council of Ministers in a
state shall not exceed 15 percent of the total strength of legislative assembly of that state.

(b} The total number of ministers, excluding the Chief Minister, in a state shall not be less than 12.
Answer options :

(1} Statement (a} is correct. (2) Statement (b) is correct.

(3) Both the statements are correct. (4) Both the statements are false.

26. JErieh! BT STl T FETEHT QT FIedT A8 g i1 @y gaam e 9 30 7ad
et Bl 7

(a) AR TSI

(b) AR WA Ao
() =z famt

(d) e SiHTa

(e) grdg fEEe

A S

1) (@ ) OF™ (2 )@ TR (3) (O (e) TR (@) (b) o (d) T

Who from the following persons did not join the Indian National Congress, but gave financial and
other help to the freedom movement ?

(@) Jamnalal Bajaj

(b) Vadilal Lallubhai Mehta
(¢) GbD. Birla

(d) Lala Shankarlal

(e) Walchand Hirachand
Answer options :

(1) (@, (b), (conly (2) (b), (c), (d) only (3) (ctand (e)only (4) (b)and (d) only

FHT FTHEIS AR / SPACE FOR ROUGH WORK PT.O.



Y14 10 A
27. o T AT FiA1 20 H 1857 Vil HESTT @ SE@IOT Aad ST 37T ST S sy
fast.
(1) g — R (2) U3
(3) & (4) fé=rd
Bhagwantrao, the king of was hanged on 20t May 1857 because the British suspected
that he had helped the mutineers.
(1) Nandur - Shingote (2) Peth
(3) Harsul (4) Dindori

28. 16 ERET 1905 & a9 1 W%9H YT WA ?

(1) e ke (2) yaEas f&eE
(3) 9w =g (4) HAR faq
16 October 1905 is recognized as :

(1) Independence Day (2) Republic Day
(3) Day of Moumning (4) Workers Day

29. 3.9 1911 T WRAW &K UGS goard S &l ?

(1) ot e (2) Td W (3) IS =Y (4) IS s«

Who started Air Transport in India in 1911 AD. ?

(1) George Light (2) H.Jones (3) Lord Stuart (4) Lord Durby

30. TIARYS] W& 99 SREER S 8 ¢

(1) wHEE Afe W gsgd s (2) RiEETEET YER

(3) ST A YO (4) YREHT Yo

Which of the following was the objective of Prathana Sabha ?

(1) The moral progress of society (2) Oppose the caste system
(3) Motivate national awareness (4) Purification movement

31, R T0a® eI HIUTET eI gawar go s ¢

(1) 9ERT (2) WA (3) w&TE (4) 3M
In which district in Maharashtra the underground movement had started first ?
(1) Satara (2} Chandrapur (3) Jalgaon (4) Thane

F=A1 FWTETS ST / SPACE FOR ROUGH WORK
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32. W e TR SO TRARE g o9 8 A/ Sierdn e et 7
(1) wsi& (2) offg g s
(3) wiesIgX T SS@T (4) AT 9 EEE
Which Princely state got recognized as the first one to make primary education compulsory ?
(1) Baroda (2) Aund and Satara
(3) Kolhapur and Baroda (4) Junagad and Hyderabad
33. ‘ANANY STEANTY SME ST Aea [CEhE T TR Bl Bl g ?
(1) o SfareeEs go (2) W =eieEd
(3) oTCfag A (4) TIUT® T ATTLEHT
Who among the following called Lokmanya Tilak as a ‘Father of Indian Unrest’ 7.
(1) Allan Octavian Hume (2)  Sir Valentine Chirol
(3) Aravind Ghosh (4) Gopal Ganesh Aagarkar
34. T fararor uftwd e e v ol ?
(1) 15 & 1906 (2) 153 1947 -
(3) 26 SHETH 1947 (4) .26 SFETd 1950
When was National Educational Council established ?
(1) 15 August 1906 (2) 15 August 1947
(3) 26 January 1947 (4) 26 January 1950
35. B HEGN TEC STHA AT BRETT %A @ S AT 7
(1) 1858 (2 1957 (3) 1861 4y 1919
Which Law, made ‘Governor General’ as Viceroy ?
(1) 1858 (2) 1957 (3) 1861 (4) 1919
36. ‘Hilgw WA 0o qardl’ w091 S Pl ?

(1) sl SR aYEaR (2) wETeT M

(3) =TETTy A (4) TS FWT TE

Who established the ‘Akhil Bharatiya Harijan Sangh’ ?

(1) Dr. Babasaheb Ambedkar (2) Mahatma Gandhi

(3) Dadabhai Naoroji (4) Gopal Krishna Gokhale

F=4T HHFTA AT / SPACE FOR ROUGH WORK PT.O.
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37.

12

ST A
(a) wEAeE famr (i) ‘Pe-fer Ssorl =
(b) AT TET HeL (i) <M i Pt JieTa se
(c) T Ta® TG G (iif)  AIYTHAT Heige ST Sl
(d) 9EE I (iv) HF Aol s
e Suy

(a) (b) (c) (d)
(1) (v) iy @) Gi)
(2) @iy @@y  Gv) (i)
(3) @iy (Giiy @v) @)
(4) (i) (v) (i) (i)
Match the following :
(a) Madanlal Dhingra (iy  Establishment of Mitra-Mela
(b) Anant Laxman Kanhere (ii)  Attack on John Balmfield Fuller
(¢} Vinayak Damodar Sawarkar (i)  Murder of Jackson, Collector of Nashik
(d) Hemchandra Das (iv) Murder of Curzon Wyllie

Answer options :

(a) (b) (o) (d)
@y vy iy Gy (i)
2y @iy (@) Gv} (i)
3y @iy Gy vy ()
(4y Giiy (v) (D) (i)

38.

T ST 9IS AT HaWiileT Jord BVl feremr i o ?
(a) Heda fieasn

(b) Hug e ufe Har

(c) g FelieT RO WG

(d) HuE WiaTe HEHSIN URE dEE

@y
(1) (@), (b) anf¥r (d) Hee (2) (a) AT (b) B
(3) (c) amfur (d) W (4) (b), (c) AT (d) T

Which of the following statements are true about Jaganath Shankar Seth ?
(a) Architect of Mumbai

(b) First Fellow of Mumbai University

(¢} Established New English School

(d) First Member of Bombay Province Legislature

Answer options :

(1) (a), (b) and (d) only (2) (a) and (b) only

(3) (¢} and (d} only (4) (b), (c) and (d} only

Tl FETE JE / SPACE FOR ROUGH WORK
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39. oTEd WiAIHID A HITET SNBGA WA 7

(1) fa=m. "Ewt (2) T TR g

(3) dAMgRT FBAA WSh (4) TS FOW TA

Who is known as the first revolutionary ?

(1) V.D. Savarkar (2) Raja Rammohan Roy
(3) Vasudev Balvant Phadke (4) Shyamiji Krishna Varma

40. i e e = [ ‘wuen onfer R & wrae) Rl A Sl Tt ?
(a) <. JIETERT SMASHT T TE A
(b) wETE F
(¢ We faar R T srmEt
(d) @HHER THUD T
oy S o
(1) (a9 2) G (3) @49 (4) (d) &
Who started the self-relient scheme called ‘Earn and Learn’ for the education of poor children ?
(a) Dr. Babasaheb Ambedker and Mahatma Phule
(b) Mahatma Phule
(¢) Maharshi Shinde and Agarkar

(d) Karmaveer Bhaurao Patil
Answer options :

(1) (a) and (d) (2) (b) and (d) 7_ o (3) (a) and (c) (4) Only (d)

41, SIOET 2011 WHT HERTSERIE 0 A 6 GURERIA RiaeAy T ol fadl ome?
(1) 894 (2) 864 (3) 854 (4) 898
What is sex ratio of 0 to 6 age group population in Maharashtra as per the census 2011 ?
(1) 894 (2) 864 (3) 854 (4) 898

42. FERSWIE g6{ 9atq 59 Rrat s ?

(1) wogan (2) @ (3) W®T (4 w=@=9
Which is the second tallest mountain peak in Maharashtra ?
(1) Kalsubai (2) Torna (3) Salher (4 Ghodav

43. 2011 S SFVHHR Gieeda Sl freemrsd S wadas THoT s oe ?

(1) TR (2) s (3) T (4) L&
According to the 2011 census, which of the following district has highest femnale literacy ?
(1) Amaravati (2) Beed (3) Jalana (4) Nandurbar

Fel HFTTS AR / SPACE FOR ROUGH WORK PT.O.
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44, TERTEW Uit AT 7 BT 7

(1) I (2) TuETY (3)  dIEET (4) @Y
Which is the first hydelpower station in Maharashtra ?
(1) Veer {2) Radhanagari (3) Koyna (4) Khopoli

45. STIATAT BT SEARTE YR IRaE U %A SeEdTd ¢
(1) SR — §To Sienfs Ty
(2) OTFHREIE — FSIRU ARG weaT
(3) WEUE — BT — g et Jor
(4) BT AT TS SRR weer

Which industrial region of India is known as ‘Ruhr of India' ?
{1) Kolkata - Hooghly Industrial Region

(2) Ahmedabad - Vadodara Industrial Region

(3) Madurai - Coimbatore - Bengaluru Industrial Region
{4) Chota Nagpur Plateau Industrial Region

46, TISHT @ET
o=t BET
(@) HETa (i) SATgaE]
(b) STARTEH (iiy T
(c) Rt (i) e
(d) ey (iv) STeF
T e

(a) (b} (c) (d}
(1 Gy vy () O
) Gy i) ) (
(3) G(v) ) (i) (i)
4 G ) (v
Match the pair :

District Project
(a) Satara (i)  Natuwadi
(b) Amaravati {ii) Savali
{¢) Hingoli (iii) Aandhali
(d) Ratnagiri (iv) Shahanur

Answer options :

(@ (b) () (d)
) Gi) v) Gy ()
(2) (i) () @) (iv)
(3) (v) () G (i)
(4) (i) (i Gv) (i)

F1 FETEIS AT / SPACE FOR ROUGH WORK
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47. T €€
AR e
(a) qT¥EI (i) SoTd
(b) TmEw (iiy 3
(c) HBAH (iii)  HETqT
(d) TR (v) e
S
(a) (b) (c) (d)
(1) Gy (@) i) @Gv)
(2) (@ Gy (@) v
(3) (i) (H (i) (iv)
(4) (iv) iy @) ®
Match the pair :
Sanctuary Place
{a) Tansa (iy Jalgaon
(b) Yawal (ii) Thane
(c) Maldhok (ii)) Solapur
(d) Nagzira (iv) Gondiya
Answer options :
(a) (b) (¢) (d)
(1 Gy @) i)y (v)
(2 G Gy @) (@)
(3) () (i) (@) (iv)
(4) (iv) Gy (i) ()
48. SFVFT 2011 A9 BIoTT el Rieasan e 3T ?
(1) e (2) womg (3) +eE (4) IqAD
As per census 2011, which of the following districts has high population ?
(1) Aurangabad (2) Jalgaon (3) Nanded (4) Yeotmal
49. WAMYH! FEERIE WHEl NS THTAFTER FgH AT B B ?

(1) oS, Svras, JeEDea], JEH
(2) S, TEEdYET, AIETH, Ao
(3) TONES!, S, AEHDYIL, HIEATA
(4) S, FTED, T, AEEDYIL

Which of the following is the correct descending order of the places in Maharashtra according to
annual rainfall ?

(1) Amboli, Lonavala, Mahabaleshwar, Matheran

(2) Amboli, Mahabaleshwar, Matheran, Lonavala

(3) Lonavala, Amboli, Mahabaleshwar, Matheran

{(4) Amboli, Lonavala, Matheran, Mahabaleshwar

FoA1 HHETE AN / SPACE FOR ROUGH WORK PT.O.
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50. q<oES FRIRIE AR JEIE B0 YehIeAT ST ?

(1) Ig@mR JEmed (2) fagtaen umed

(3) Hfad awred (4) ST T

What are the types of rural settlements in Bundelkhand region ?

(1) Circular Settlements {2) Dispersed Settlements

(3) Compact Settlements (4) Semi-compact Settlements
51. W@HIE W Theur S &5 T T [ STe BT 7.

(1) TTH® (2) dwg M

(3) =R (4) Rraesh gl e

Protected area of Melghat Tiger Project has been declared as a national park.

(1) Gugamal (2) Sanjay Gandhi

(3) Chandoli (4) Priyadarshini Indira Gandhi

52. TENISZRI B SLonal Taees gTor it e Senerane it aiEy RuA e o ?

1) oot i g (2) I FET T

(3) Sl g (4) HSTREU uTq

Which dam and its reservoir is known as Wilson dam and Aurthar Lake respectively ?
(1) Upper Wardha dam (2) Lower Wardha dam

(3) Ujjani dam (4) Bhandardara dam

53, WG SR g9 Horn SRS Bd 7

(a) gudrs (b) FuTET ATH

(c) B I (d) @ @S

b e

(1) & (a) (2) (a) afr (b) (3) (), (T (d) @) ThawS
What are the causes of soil erosion in India ?

{a) Deforestation (b) Destruction of grasslands

{c) Shifting agriculture (d) Wrong methods of cultivation

Answer options :
(1) Only {a) (2) (a) and (b) (3) (b)), {c) and (d) (4) All the above

F=31 FIHTETS AT / SPACE FOR ROUGH WORK
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54, arE™ Y ARARIE HaTd S q TS A ITTE,
(1) @i o 2) ¥ @ (3) T @ (4) OB AT
Assam has the largest reservoirs of in India.
(1) Mineral oil (2) Iron ore (3) Coal (4) None of above

55, @eiwde! Herk/ad fram/faum sEr /e ?
(a) Tarawew ¥ 98 g9 fo@mr oy d wagst wew WA .
(b) MfeErTs T HPEE S ¥ WET TUTE I(AVT AT SR
(c) STHTENE SITT ¢ $1Y] Aeldq S Saids 3.

iy S
(1) faam (a) anfn (b) 2) faam (b) anfr (o)
3) faum () (@) faum (o

Which of the following statement/s is/are incorrect ?

(a) Chikhaldara is a hill station and located in Satpuda mountain range.

(b) Gavilgad and Melghat mountains are found in southern part of Maharashtra state.
(c) Balaghat mountains are found to the north of Shambhu Mahadev mountain ranges.
Answer options :

(1) Statement (a) and (b) (2) Statement (b) and (c)

(3) Statement (b) (4) Statement (c)

56. @ie faa™ faare =i e
(a) e ol frfes &0 a9 o,
(b) TN MG ¢ e I TIFVTL HUT TAA TTeAT gavad SHiE .
() TET ¥ valeRorear HaATS! FEEET AT
Tiwter B/l faum/A Tiee /ama ?
(1) (@) &l (b) (2)  (b) sl (O (3) () &l (o) (@) abw ad
Consider the foliowing statements :
(a) Absolute poverty can be eradicated.

(b) Relative poverty is based on comparison of lower income group with higher income group.
(c) Poverty is not responsible for degradation of environment.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b) and (c) (3) (a) and (o) (4) Al of the above

FeA1 HMIET AT / SPACE FOR ROUGH WORK PT.O.
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57. WAWIH! B TG/ FEFG HTS/TET ?
(a) TN LT ARG G HFA ST Bl A,
(b) GFET YET fohel TH-1 A AHITIBT TGN SHAHTE/AHAL I,
TR e
(1) (a) B (2) (b) e
(3) (a) @iy (b) = (4) Tl B & AT

Which of the following statement/s is/are incorrect ?
(a) Currency notes in circulation are issued by the Government of india.
(b) Narrow money or M1 includes currency with the public.

Answer options :

(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) None of the above

58. WUl AR AT (SGSY) TRl STl A 8.

(@) = S (b) wlirm T SH

(c) WeEHI g (d) R &
war Y
(1) (a) ®HT (2) (b) & () (3) (a), (b) a1 (@ (4 (a) (b) ST (d)
The implementation of SGSY is done by :
(a) Commercial Bank (b) Regional Rural Bank
(¢) Co-operative Bank (d) Foreign Bank

Answer options :
(1) Only (a) (2) (b) and (q) (3) (@ band (g 4)

(a), (b) and (d)

59. HETYTE ANl GG HEdT BV WHTTE! AT I ?
(1) = (2) dift® (3) EmH (4)

Hd

What kind of unemployment arises due to the use of Sophisticated Technology ?

(1) Cyclical (2) Technical (3) Seasonal (4)

Disguised
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60. fera faira Heam Wq HOATd AT HITOT AT

(a) T FEaErsl fell Sueey & 3T,

(b) F Il HEA &ATTT faer SrefaaEd qeq wdE.

(c) I IR FrEE S

(d) wisad SR Frav .

TR Sl

(1) (a) & (2) (a) T (b) (3) (b) & (4) (d) T (g

Development Financial Institutions were established to

(a) provide short term funds

(b) develop industry, agriculture and other key sectors

(c) regulate the money market

(d) regulate the capital market

Answer options :
(1} Only (a) (2) (a) and (b) (3) (b) only (4) (d) and (0

61. Wi ferema feramaa =
(a) T FE e famEE T Hoidl Wi B 3.
(b) TERS AV THAT HoryEasT Hd.
() TS el SEnEdt anftfe Ted F.
(d) TR el femaEd s Taa B
Tl BV frar/faam st oma ?
(1) @®%R (2 (a) R (b) 3) @ O aRT@© @ @ b
Consider the following statements :
(a) NABARD offers loans for agricultural sector development.
(b) NABARD provides loans to rural business.
(c) NABARD makes financial loans for the urban industries.

(d) NABARD provides financial support for urban development.
Which of the above statement/s are correct ?

(1) Only (a) (2) (@ and (b) (3) (@) (b)and (c) (4) (a) (b) and (d)

FSAT FEIS AT / SPACE FOR ROUGH WORK PT.O.
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62. WRIEIH! BV FhedqT UL IUF’’ AT THed9N datg ame ?

(1) e (2) ofeTarEl
(3) ward (4)  ThATH FVRE @
Which of the following concept is related to the concept of “National Income” ?
(1) Stock {(2) Micro
(3) Flow (4) None of the above

63. A HETIIH T

(1) e TegE QIasiis SarEr s9 oTEa.
(2) WEWIFG YA HIAWS TArET e S,
(3) WSS Hege AT WG @ g9 STE.
(4) FOFUH THS T,

What is a balance budget ?

{1) Public revenue is less than public expenditure.

(2)  Public revenue is higher than public expenditure.

(3) Public revenue and public expenditure are the same.

(4) None of the above.

64.

foro ST Heume 91 v ?

() wmEha, Wy, W (b)
(c) UM, W+, et (d)
@t S e/ slet o ?

(1) % (a) (2) (a) &fr (b) (3)
Which are the founder countries of BRICS BANK ?
{a) Brazil, Russia, India (b)
(c) Japan, Germany, Switzerland (d)

Which of the above statements are correct ?
(1) Only (a) (2) (a) and (b) (3)

o, gfiaor et
fteram, sfiaor ST

(a), (b) &7 () (4) (a). (b) ST (d)

China, South Africa

Belgium, South Corea

(@), b)and (0 (4 (a), (b} and (d)

AT FTHIATS AT / SPACE FOR ROUGH WORK
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65. WHEEd Radd e T :
(a) ¥gEL Sed (b) VR @
() Saw faaromie 9&d (d) ATET
T S
(1) (a) (2) (a) ST (b) 3) (@ (b) R (& (4 (), (b) & (d)
Demographic transition is a result of
(a) Changes in mortality (b) Changes in fertility
() Changes in income distribution (d) Urbanization
Answer options :
1 (@ (2) (a) and (b) (3) (@ ()and () (4) (a) (b)and (d)

66. ST ASHEN TOF Aied =T qied 78 S el o 7

(1) Sooaa T (2) €Y Fe

(3) fyea—=ar g (4) S-S
Under which scheme free gas connections are given to poor women ?
(1) Ujjwala Yojana (2) Saubhagya Yojana
(3) Jeevan-Jyoti Yojana (4) Jan-Dhan Yojana

67. FEHUUGA YT BOML SAA BT YT Bk ?

(1) T &N (2) &g &N

(3) WS G (4) HEIRaT TSy

Who receives income from Income Tax ?

(1) State Government (2) Central Government .
(3) Local Government (4) Union Territory

68. WO GRIdeh BT TIT TG FHI HIITEIE G& HIITT T TR 7
(1) T i g
(2) AR ASFMT FIEaET
3) eI sl AR T
(4) uiephs fasm wrdwd
Which of the following schemes has not been introduced for reducing poverty in India ?
(1) Employment Guarantee Scheme
(2) Jawahar Rozgar Yojana (JRY)
(3) Swarnajayanti Shahari Rozgar Yojana (SSRY)
(4) Cultural Development Programme

o] FHTATS A / SPACE FOR ROUGH WORK PT.O. .
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69. ‘WNIdeh AN WD WIATd HIVT ST=al S JHE el S 7

(1) |iepias &=

2) &

(3) U@ &

(4) =EEE s A w6

In which sector, India is suffering more due to "“WTQ" ?

(1) Cultural Sector

(2) Tourism Sector

(3) Political Sector

(4) Trade Related Inteliectual Property Rights (TRIPs)
70. WIS BT HL & ANG TEFTET ANIH HT A8 7

(1) wermes T (2) feet &Y (3) TEET BT (4) B HT

Which of the following taxes is not the indirect tax in Indian Economy ?

(1} Corporation Tax (2} Sales Tax (3) Excise Duty {(4) Customs Duties
71. Reviermar sy Sl qEen ?

(1) =T g (2) wEHE (3) amgEEA (4) T IR@

Who discovered radioactivity ?

(1} Marie Curie (2} Rutherford {3} Einstein (4) Henry Becquerel
72. o1 9T HIHTE: AR TS 35 JTgvaTandl el Sl

(1) oadd g9 (2) FHAW TYO

(3) FEaw U (4) o 9T

are commonly used as rear view mirrors in vehicles.
(1) Planoconvex mirror (2}  Plane mirror
(3) Concave mirror 4y Convex mirror

Fe1 FTGTS! AT / SPACE FOR ROUGH WORK
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73. TEAM L ENSOAI ggR AR,

(1) 911 7N SO BIee (2) 921 A A @lee

(3) 931 W I Fiee (4) 941 W SAEL Bl

Energy equivalent of mass 1 u is

(1) 911 MeV (2) 921 MeV

(3) 931 MeV (4) 941 MeV
74, GRS HiUTET gy Ryl @ren are IR STETET S ad TR

(1) K (2) Cu (3) Ag (4) Au

Which of the following metal cannot be extracted from aqueous solution of its salt ?

(1) K (2) Cu (3) Ag {(4) Au
75. ¥ SfFETY 0% HeaN 9IS SR,

(1) wEe (2) fraAmEe (3) UEGRgEEe (4) dFHEES

is an important ore of aluminium.

(1) Halite {(2) Cryolite (3) Pyrolusite (4) Chalcocite
76. & qEeidl Y ST Hisl.

(1) Ca Ba Ra, Ta {2) Ca, Ba, Ra, Pa {(3) Be, Re, Ge, Se (4) Na, Ca, Ba, Ra

The set of the elements belonging to S-block is .

(1) Ca,Ba Ra Ta {(2) Ca, Ba, Ra, Pa {(3) Be, Re, Gg, Se {4) Na, Ca, Ba, Ra

77. GEIAYSH! BT ST @Y SR gEraeqer T 8l ?

(1) uiieHiTh®, HEad, FEEeH
(2) =W, =l arftr sefaw
(3) wim, feE=lY, uitmith®

4) wF, A=l smitem, diwEiee g g ame@m ofw s

Which of the following set of terms is best applicable to Obelia ?

(1) Polymorphic, Colonial, Aquatic
(2) Marine, Sedentary and Colonial
(3) Marine, Sedentary, Polymorphic

{(4) Marine, Sedentary, Colonial, Polymorphic with true alternation of generation

FoT HITTS AT / SPACE FOR ROUGH WORK
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78. Y{dew A urare fRdt e srHaw ?
(1) 10-15SE  (2) 10-20W®m  (3) 14-43%R@W (4) 15 - 40 Sem
The number of legs found in Peripatus is
(1) 10 - 15 pairs (2) 10 - 20 pairs (3) 14 - 43 pairs (4) 15 - 40 pairs
79. F@RA TO@W ¥ A AT HiR Saw ?
(1) fafemm (1758) (2) ¥ 9 (1973)
(3) §OrwT (1838) (4) <99 (1664)
Generic name of cockroach ‘Periplaneta’ was assigned by :
(1) Linnaeus (1758) (2) De Beer (1973)
(3) Burmerister (1838) (4) Bentham (1664)

80. WEIAISH HIVRT T TE GEIAA THAGL FTA [ HBEwT A ?

SAIGETE
LEIEHSL K

Bryophytes

(1) Merwrdzw I 2)
(3) Frreda (4)
Which of the followings are known as Amphibians of plant kingdom ?
(1) Pteridophytes (2)
(3} Gymnosperms (4)

Angiosperms

81.

fpemrereh fenemi fawaTen HTAAT e BT T Y Hian 7

(1) o9 | (2)
(3) Y Hen 4)
Insecticide poison the insect pests by affecting their
(1) Respiratory system (2)
(3) Muscular system (4)

Toull HedT

Nervous system

Circulatory system

F=A1 FETEE AR / SPACE FOR ROUGH WORK
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82. WHIwI® B fur/faum averimde sEE e gewieTEg wd Hed ?
(a) N, S 3T Fe & THGLIZH T¥a. (b) O, Ca 3T Mg ¥ ATEHIGLIAZH .
(c) Cu, Zn M Mn ¥ STG9T% UG T ARG, (d) B, Mo YT C| ¥ SFTEYa® UING ded STTed.
Tl S

1) (@) &1 (2) (@) e (b) 3) @@ @ (%R

Which of the following is correct statement/statements regarding ‘i'n&organic' nutrients in plants ?
(a) N, S and Fe are macronutrients (b) O, Ca and Mg are Micronutrients

() Cu, Zn and Mn are essential elements (d) B, Mo and Cl are non-essential elements

Answer options :

(1) (a) Only (2) (a) and (b) (3) (a) and () (d): <Only ()
83. YW TRA TTRGAECH TS g 4, mﬂnﬁwmﬁw@ﬁ?ﬁ woHT: ® Y
P e eteiede W g, .
(1) igen, guisHe 1937 %nr—?r (2) ir@n aﬁaw anﬂb-&)—cr 1999 Hﬁﬁ
(3) <aTEERN, JNEHLEY 1937 AR (4) orEee, sfie sTieed 1999 Tre
West Nile Encephalitis (WNE) is the inflammation of the _____ caused by West Nile Virus. WNE
was first diagnosed in the West Nile region of
(1} Brain, Uganda in 1937 (2) Brain, South Africa in 1999
(3) Nervous system, Uganda in 1937 (4) Nervous system, South Africa in 1999
84. =R ¥ wNEH 9 TEnie (Naweis) wew o A,
(1) wled wRer (2) FeemTRigeT BRIy
(3) ormi&a sra@hg (4) TRFIEfEE ofsdt
White Button Mushrooms are scientifically (Biologically) named as
(1) Pleurotus florida (2} Volvariella volvaceae
(3} Agaricus bisporus (4) Eremothecium ashbyi

HTT FETAT W / SPACE FOR ROUGH WORK P.T.O.
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85.

26 ' A
T RS g S8, G ATEHITT TIGBET Yl Hedrd, 4T |
Sal.
(1) frufem 2 IE (3) =ENtE (4) af=shametas

hormone is released when water content of blood fluids is less than normal.
(1) Creatinine (2)  Renin (3) Vasopressin (4) Angiotensin

86.

AT HFCTE HILN 1 God ILOR 3791 378d, X AT dea™ DFH) AT SivTdr 9aig I0at A8 ?
(1) FHIJN (2) EHKN (3) EGIL (4) FHIN

If the letter group HILN is coded as ILOR, then by the same principal what could be the correct
code for the letter group DFHJ 7

{1) FHIN {(2) EHKN (3) EGIL (4) FHIN

87.

g3 5 Ty anfr sax 3 fum fafite w9 wHe FET W gEad oRA. AT diissgsed 9ud
ghree PivE Stmu yag frasr.  gimar qod stamd geeiide 3 1 faae & aremdien
2 Tramiax smurfia Fresd faem srammn &

(a) omyPTE JETT dole AT orear.

(b) I & yiTH I IR,

() ‘A = welee W e

(d) ‘S wartad weE WG FE.

(e) T a T YR e

.quhh ﬁ:" H

(1) (b). (e). (@ (2) (b) (). (&) (3) (9 (a) (d) (4) (b), (d), (2)

Given below are 5 statements followed by options composed of 3 statements put together in a
specific order. Choose the option that indicates logically valid argument. To be valid the 3rd
statement of the composition should be the conclusion based on preceding 2 statements.

{a) Modern industry is research driven.
(b) 'Impro’ is a modern industry.

(¢) ‘'Impro'is research driven.

(d) ‘Impro’ may be research driven.

(e) Research driven industry is modern.

Answer options :

(1) (b) (&) () (2) (b), (o) (o) (3) (o). () ) 4) (b) () (@)

F541 FHETHTS A0 / SPACE FOR ROUGH WORK
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88. Ui Tt ql&T &
(a) OF SHGET Goa 3.
(b)y fiftrn Remden S oTe.
(c) o Regasa 39 91 freaden awer o
(d) T arlan 39 e
e qeafay smaid ogs ey e
(1) wafq fefan aeEr onE ST o gEet o
(2) o Tivaaue gafa SevEr ST geaht TR
(3) Tt waf aomet oMt utg wata 39 w1 aresa™ freed sew s .
(4) walq goER & Aty Freed wew s o uiyg o friYaaaet wald gee o

Examine the following facts :

(a) Anu is heavier than Bano.

(b) Cynthia is talier than Dina.

(c) Bano is of same height as Dina but heavier than her.

(d) Dina is taller than Anu.

Select the correct conclusion based on above facts.

(1) Cynthia is the heaviest and Anu is shortest of all.

(2)  Anu is definitely heaviest and shortest among all.

(3) Cynthia is heaviest but it is impossible to conclude who is tallest of all.

(4) Ttisimpossible to draw conclusion about who is heaviest but Anu is definitety shortest among
all.

89. A B C 3D I fqmzies ugw fhgn dF e e, mﬁamﬁ%ﬁqg@%mﬁa qAATFS Gl
aed, s 7 snftt earehe ST e SRd. B &3 C Y FHH! Tk ARd a¥ D B A & W
&% ARA. 9K C HS D I F Y SEad a¥ 9 ey ord/etel wqum/ e/ free
frema -

(a) A oTiftr B a1 Araime T RFUTA 12 T ST,
(b) D 3mftr A a7 S g TR 15 Eaes SR,
(¢) C ity D a1 Srichs fogm e 18 g sEomE.
(d) C anfer B a1 Siws fige fra 9 g s,

Ty T ¢
(1) (a) I | (2) odw ga
(3) Tl T AR @) % ()

Total number of books that students A, B, C and D have is thirty. One of them has three book,
another one is having six, third one is having nine and fourth one is having twelve books. B is having
fewer books than C and D is having more books than A. If C has fewer books than D, then select the
statement/s that/those is/are not necessarily true.

Statements :

(a) A and B together must have at least 12 books.

(b) D and A together must have at least 15 books.

(¢) Cand D together must have at least 18 books.

(d) Cand B together must have at least 9 books.

Answer options :

(1) All but (a) {(2) Al of the above
(3) None of the above (4) Only (a)

e HIHTE AN / SPACE FOR ROUGH WORK PT.O.
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90. JEId Hifed T &5%a 9 WbaSSad 3.

T A B C D
&awe (Y. e 80,000 50,000 10,000 5,000
AHEET
16 10 4 3
(FrEmTe)
FaTd WG e ABEGAT SO TS B 7
1) A 2) B 3) C 4 D

The following is the information of Area and Population of States.

State | - A B c D
Area (in Sq. km)| 80,000 50,000 10,000 5,000
Population 16 10 4 3

(in Lakh) | -

Which is the most thickly populated State ?

1) A (2) B 3) C (4 D

91. UH SIEHH HLOAEE 10 THH AT B HLOMAT BT FHEH BeAl. 2 BT 2 =0 feash
FW AR, 3 ST 3 = frash e m dew @ ¥ o @ Hiwda e Uik, qroan aiomE @

HUael 99 g Rd AFT.
ST 10 FEMCT 99 a8 & $o 6T qC BE HUI AR aw Fast
1y 2 (2) 3 (3) 4 4) >

10 workers working with same speed were deployed to construct a structure. 2 workers left on the
2d day, another 2 left on the 34 day and this went on till the work is completed. As a result 2 more
days were needed to complete the work.

Select the number of days that were needed if 10 workers worked for all days.

1 2 ) 3 3 4 @ 5

4+ oy FUIEIEY AT / SPACE FOR ROUGH WORK
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92. wrEE! fATa 60% 7 e, BT AE Rl <9% HH QeOE) TN Egid 918 T e ?

1
(1) 25% (2) 30% (3) 375% (4)  40%

The price of sugar is increased by 60%. How much percent a householder should reduce the
consumption of sugar so as not to increase the expenditure ?

| 1
(1) 25% ) 30% @) 375% 4) 40%

93. fawen mih oremr :

A, B, C, D 31T E a1 =it STAIS ST aY Saishs aiS e 90wl ARd. B & D =1 s 40 4.
HaUaT . A B B T IR 60 WY, Ay &, C & D =1 WivgAw 50 |, HTUET g Sifr E
& A =7 ST 70 M. FAUET oM. C T E ITEHEAT A BT HETS AT Hies) gaid s
JUN HOMT g9 e

(1) o Ffyeaauet 90 M. Yam W sEOTCE.
(2) o Ffyaaaer 91 . Yaw SIeq WXy 92 . Y& HH SEOIE.
(3) 9 Frfyaduer 90 . Yam g WY 91 W Ve FH SEUIE.
(4) o Ffaauer o1 A Y& HH .

Study the given information :

Persons A, B, C, D and E are sitting on benches in the garden facing north. B is 40 m to the right of
D, A is 60 m to the south of B. Cis 50 m to the west of D, and E is 70 m to the north of A. Select most
appropriate option that describes approximate minimum distance between C and E in metres.

(1) It must be definitely greater than 90 m.

(2) It must be definitely greater than 91 m but less than 92 m.
(3) It must be definitely greater than 90 m but is less than 91 m.
(4) It must be definitely less than 91 m.

94, fruTa uew ol :

(1) 24-21 (2) #44-22 (3) 62-23 (4) 84-24
Identify odd element :
(1) 24-21 (2) 44-22 (3) 62-23 4) 84-24

FoAT HMTETS 91N / SPACE FOR ROUGH WORK PT.O.
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95. g faeea d= Tmren R (G), T (B) 9 W (R) TR Hite T SN
X=GGBRBRRBBR
Y =GBRRBRBBRG
Z=RBBRGGBRBR
WX qfeel 9 graean €T SN Saw dX AT BT A HIl §A B ?
(1) xsufry 2) Y omfrz
(3) X anfo Z (4) TR I AT AREAT BT T
Consider the following order of a string of pebbles of three colours, Green (G), Blue (B) and
Red (R) :
X=GGBRBRRBBR
Y = GBRRBRBBRG
Z=RBBRGGBREBR
Which two of them gives us identical necklaces prepared by just making the first and last pebbles
of the string adjacent ?
(1) XandyY (2) YandZ
(3) XandZ (4) No one of them are identical
96. T FYUITEHIGT BT oAl SIMYEAT 5 J Wyl oM. 1 SYUIieT=n e 8 freae @ BaRE 1 T

%ﬁqmi—iawﬁmﬁaﬁl. X @ET AYTIE BT ?

11 7

= 2 3) T3 4) ]
L 3 @ T 3) @z

The denominator of a fraction is greater than the numerator by 5. If 8 is added to the numerator

.. 15 -
and 1 is subtracted from the denominator, the value of the fraction obtained is 11 The original

fraction is

11 7
2 1c 3 33 (4)

< A0

(1) 3
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97. T T JATAT SATAT ! U 50 I 6. AR qWY] AFEeAS 94 JATAT ATed qared] 6 T
. I 98I 9 YA mH MY 99 fahdi ?

(1) 35eY, 1599 (2) 3899, 1299 (3) 409,10 9% (4) 4299, 8 9%

The sum of the ages of a father and his son is 50 years. Four years ago, father’s age was six times as
that of his son. What are the present ages of the father and son respectively ?

{1) 35yrs, 15yrs. (2) 38yrs, 12 yrs. (3) 40yrs, 10 yrs, (4) 42yrs, 8 yrs.

98. UH MDA Al 9 q& A UKL 4: 5 3 . JelTdl WE&AT 76 A X qor Fopelt ?

(1) 85 (2) 95 (3) 105 (4) 115
In a school, the ratio of girls to boys is 4 : 5. If there are 76 girls find the number of boys.
(1) 85 {(2) 95 (3) 105 (4) 115

99. I T AT UM 22 5 e, WX qfelt 2 5 amend 350 fop 1. emawit X St e i B
et fpch o, Bw ?

(1) 165 (2) 180 (3) 350 . {4y 105

The ratio between the speeds of two trains is 2 : 5. If first train runs 350 km in 5 hours, then the
difference between speeds {in km/h) of both the trains is :

(1) 165 (2) 180 (3) 350 (4) 105

100. THT afvames 35% franedl @ swa o 455 femlt o @, T @ ofden o il frendt sw@
B ?
(1) 490 (2) 700 (3) 845 (4) 1300

In an examination, 35% of the students passed and 455 students failed. How many students appeared
for the examination ?

(1) 490 (2) 700 (3) 845 (4) 1300

-00o-
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(8) WyTRasne fafeq Fown [ite aria &= &M (6 T6) HUG.  YeTgRabaraiiad Sadaseat 91 3a¥
FITEET Hexl B HedTE d Bl HIATAT IYH $S AR, 38 S FZ0 9 ATFEN IHTIRET MEA™ AR
Howdl Cqleae e IRERT TRiey soaEEay sfifee-82’ e TRgEER S H 35
T W RN FHISG Th TUIEAT BIEETET AM/Rhar 93 T s @y e e fiam o 8ds.

(9) WY UsTUtNhard T fafsd Fd dv WURTAT SHEA @ WegRa®! Wa-aiat THHTRHET 0o
TG qLART 318, W TETEREiaT AT SHear HAIYe] ST W~1 TS o Rae T &0 AEvTs

AE.
T 09
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B 9EH A 96 (3) Tl THAEE T S g, NS A1 WY Sat “3) BEe. I Ereies
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